


Four persons, P, Q, R, S were engaged for
doing a task, with the condition that P; Q;
R; S work, respectively, on (Mondays,
Thursdays); (Tuesdays. Fridays);
(Wednesdays, Saturdays); (Sundays). The
task was beginning on a Monday, and got
completed on the 15th day, which was
also a Monday. If the efficiencies of P, Q,
R, S in respect of doing this task were in
the proportion 1: 2: 3: 4, then in how
many days could R complete the task,
working alone without break?

IR &afad, P, Q, R, S U& H1¥ H F & faT
S0 A F WY AN gU A fF P; Q; R; S FH HY
FAMW, (WAAR, IFAR); (AIAAR, YFAN);
(FUER, AfAER); (A@ER) 9@ FR F:EA| FE



AHaR F 4% fFar = a1, 3K 15§ Ra q@
Em,a?sﬂamnmlﬂﬁwmm‘rmﬁa?
T A P,Q,R,SHrcafar 1:2:3:4 F
et A off, A R faar e & @ FF F1d

gC F F fhaa et & QU F FHhaT {77
(a) 12
(b) 13
(c) 10
Vk“ll
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A and B can do a certain work in 12 and
18 days. respectively. They work together
for 5 days. The remaining work was

completed by C alone in 27% days, What

part of the same work can be completed
by A, B and C together in 6 days?

A 3R B v fAffaa &1 & war 12 3k 18
feat & X @&a §1 d 5 el aF wF Iy
FId g1 AY FF IJH C g@RT 27%%#@
fhar Irar, 3HT 17 &1 Fa«ar $ET A, B 3R C
36 e 6 Rt & T AT ww §2

\"b 9 14
q U(ﬁ (c) 15
29 5 =
(b) =5 (d) FISSC MTS (Shift- II) 08/10/2021
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Two men A and B, each working alone by
working 12 hours per day, can complete a
qu e\ work in 20 days. For execution of the
work, it was decided that A and B would
be working for 8 and 6 hours per day,

“12\—) Q d respectively, on alternate days starting
¥ with A. If it takes x days and y hours to
, 7_ XIF complete the work then (x, y) is:

”Bl;b‘?;% A 959 A 3R B, v@F IFa 12 w9 wfaka
FE TF F14 F 20 &l & @ = w=a

3 ?.X'I'Qg.g“%l T & Asuea & e, g Aoy o= =
Yo 20, "
fF, AR % g arer d=feus R#AT # A 3R B

() (34, 4)  Faer: 8 3T 6 uT wiafeer FF F IR FF
(?‘1 'L') (b) (33, 4) | | |
] (c) (33, 2) ﬁwmﬁxﬁﬂ'myﬂfm%a‘r

’)\ ‘} LRI AR - i - WSSC MTS (Shift- I) 05/10/2021



84 persons take 56 days to complete a
certain task. When one-fourth of the task
was completed, one-seventh of the
workers left. How many days in all does it
take to complete the entire task?

84 =afFadl &I & AfRad & # QU & A
56 foa1 9ra 1 S9 TH-GlUT$ F 9 B 9,
Al UH-UIad SafFd I AT ol WFQUT FE HI
T FA A Tl st R&er sorer §2

_ef 63

(b) 60
(c) 64
(d) 66
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Pipes A, B and C can f{ill a tank in 30

hours, 36 hours and 28 |hours,
l"')— respectively, All the three pipes were

3£ |30%1' Bs opened simultaneously. If A and C were

closed S hours and 8 hours, respectively,

QB ::'23‘600 L‘I § before the tank was_ filled completely,

then in how many hours was the tank
filled ?

,30 =T A, B 3R C & &F & FAM: 30 ue, 36
|80 S0 — 1QR o7 3 28 52 # s 7wt &, et o v
g 7r &. I TF F N W ¥ A & g

|Q?_ "&“Aﬁhcﬁmr 5 g¢ 3T 8 g¢ &€ +T T

wma’rhﬁmﬂaﬁ#mmmﬁ
Deb.  Gluodir @ -8
(c)lz




Pipes A and B can fill a tank in 18 minutes
and 30 minutes, respectively. Pipe C,

S attached to the tank can drain off 125
litres of water per minute. If all the pipes
3 ~are opened together, then tank is filled 45
minutes. The capacity of the tank, in
2. litres 157
T ——— e —————

UiEq A 3R B U cd &1 HAM: 18 A+ae 3R
30 fAsle & &Y |Hd T TH { (3T UBY C,
‘Qs afy e 125 fex o=t Prwer @war ¥ AR
st grsar & T 9w @ &Ir Se, ar &

45 A<lc # 8T AT g1 THT A &7HAT, e A

(a) 1375

\..M 1875

(c) 1500
(d) 2000



(\.—x_ V‘ During rainy season, huge inflow of water
takes place into a reservoir. Measures are

gken to clear the reservoir while water

feeps flowing into it at a constant rate. It
has been observed that seven and five
men can clear the reservoir in 20 and 50

2 LH'-?O')(, - 4 x q days respectively with the initial quantity

of water in the reservoir being 24 and 36

36_‘_ Sox st kilolitres respectively. What is the rate of

inflow of water into the reservoir in litres

6 per day?
00\_5%7(-1?003(:‘!'50‘13?&1?{ & =T & Sraraat # gt &1 H yaE
96 =1.002% gar ¥ ST F WG FI F 39U U o

¢t & g 3k g ==afEa s 20 3R 50
AT 7 SJART FT 9% FT FHd 8, STelrerd A
gt T SRASF AT FAM: 24 31X 36 Faredlex
gl ufa fee1 ofiex & ST & 9= & wae
&{ ¥49T1 8?7

=%wgoq§mwmﬁ#mm%lwm



el & FaRT F 6 F TAFd ¢, ToT H
gt T YRS AT FAw: 24 31K 36 Fareie
gl gfa o e & somT # gt & yag

MTS 2020



6 men can complete a work in 64 days. 24
women can complete the same work in 32

6M¥‘%-Rk%ﬂ}’5 16 men and 24 women together

orked for 12 days, after which 8 men and

8 women were dropped. In how many days
the work will be completed?

ig_ﬁwaﬁaﬁmﬁm’fﬁwmm%ﬂ
24 AfgATC 3 1 F 32 RaAT # @ FT FFA
'Efmwammmﬁam 12 &=
d%F 4 Fd g, OEF dq 8 youl IR 8
AT &Y ger By Srar g1« fFaa = &

|:—\) @ \t{m’
+3C|§4 $Z :c: 18

(d) 6

MTS 2020



é A, B, and C can do a piece of work in 16,
lé 24, and 32 days respectively. They start

q 6 l1 together, but C leaves after 4 days and A

qq leaves 6 days before the completion of the

32 :é work. In-l'mwm_-amrdays will the work be
completed?

'éxq Sf‘ B 3R C & &1 &+ HAA”: 16, 24 3T 32
el & 9 #T §Fd 81 T UF WY YF A 8,

Yy AT C 4w A ¥ 4 Rl & @ o1 dar @
+3Q I AFH U A A 6 ReT g5l BI5 a1 B
F et Rat # g gme v
30 h%‘\ (a) 14 days \ Y=
(b)Qdays t)‘(‘-

Md.;gd,.,? e

MTS 2020



12 men can complete a painting work in
GB days. However, 16 women can complete
the same painting work in 12 days. 8 men
started painting the house. After 6 days of
painting, 2 men were replaced by_4_
women. Now how many days will they

M)=2W

ﬂn ‘ d take to complete the remaining painting?
— R IZWWmﬂmsmﬁwmm
Gd ¥ 79, 16 AT a& s &1 FH 12 =

# qof #X Fwct ¥l 8 O A W H WA YW

BTl mE & 6 Rl & 915, 2 W A 4
Afgenat @R gfavruia @ a=&m a9 Ay

D o o ot ot 8 3¢ ot o st
(a) 4

(b) 8
(c) S5

T 6 MTS 2020



A pool has 3 taps. The first tap takes 3

'4_2 2 da*:'fsz the second tap takes 2 days, and the

'-'1'1 third tap takes 18 hours, to fill the pool.
(19 3 * All the three taps are opened together.
lg 3 After 8 hours, the second tap is closed.

— @ The total time to {ill the pool completely
oY

will be:
Hb E UF o # 3 A 8l IgA A HI 3 e, gy A

# 2 e AR faY a9 F g F RS H 18

e W9Td g1 dil A TS AT @ IS g1 8

‘ze‘ Ue 91 QU o 9 $X fadr Sar g1 9 H
A TE & 8 FT Fel TAT g

128 144
— c) —— Hour
(a) T Hours (c) -5 ours

JP7"12 Hours (d) 4 Hours



A tank is to be filled completely with

G 8 ‘ o water for which 8 pipes of the same kind
are used. The tank gets filled in 1 hour
T lo 3 and 40 minutes. If 10 pipes of the same
kind, as mentioned above, are used, in
\L l how much time (in hours and minutes)

, 00 ?ow;- will the tank be completely filled?

(& 20mans TF &F F Qf W ¥ I F 5 e § o
foT v+ & YHR & 8 9ISl &1 39T AT Frar

gl & 1 9¢ 40 e & &Y o@T B I W
(a) 1 hour 30 minutes

(b) 1 hour 45 minutes sfeafld ¥A YR F 10 939 FT 394kT
(c) 2 hour 5 minutes ATdT %, ar & fraa gAY (EIET 3 RAeet ﬁ-)

1 hour 20minutes

_ms 2020 UK RS LY



S men and 6 women can earn 10,500 in

’36 6 days. 8 men and 12 women can earn
6
5M+ w :‘.‘Fr's 24,800 in 8 days. In how many days will
3o

7 men and 10 women earn 26,5007
IM+IRW 5 7% 3R 6 Afga? 6 R # 210,500 Hfa

62 T FHd ¢l 8 W IR 12 ARRe 8 et A
3|°M-Q?0M \‘wa 324,800 3fold #T &Fd gl 7 T¥ IR 10

""'372-};%7@ fraa ﬁﬂ’r # 326,500 ITHT HT THd

SoM=YgW "

_"’l—g_ (a) 12
W $ (b) 14
i) 10

(d) 15




Pi1 alone can do 2/3 of the work in 8 days.
P> alone can do 7/12 of the work in 14
days. Psz alone can do 8/15 of the work in
16 days. In how many can they complete
the work, if all three work together?

el w1 & 2/3 #0T FY P WS 8 e A qu
FT ThdT ¢ 3H FH & 7/12 T HY P, 3$o
14 & & QU T FFa1 g1 50 FH F 8/15
"I F P3 3dd 16 G & 90 T FFar g

g A UF T FIH FG g, al & FH H
Ereltoi o ad: el el MTS 2021

80 120
— c) ——days
(a) =7 days (c) 1o 98



P can complete five-eighths of a work in
15 days and Q can complete three-fourths
of the same work in 30 days. They worked
together for 8 days and then P left. How
much time will Q working alone, take to
complete the remaining work?

P U& F &1 qr=/3maar #er 15 A F qu &1

dhdl ¢ 3R Q 3¢ & 1 die-=tag smer 30

fGal & QU #X @Far g1 378 8 AT a% E

1T F1 Far 3R 5T P 91 14911 Q IFe FIA

A U AT FE F QU A A hdar aHT

~rirdl>SC CHSL 16/04/2021 (Shift- 1)

(a) 15 days 16 hours
(b) 15 days 8 hours
(c) 20 days 4 hours

l.a('d1'18 days 16 hours




20 — 25 +16

Yl L

«03 L

Manoj and his wife Swathi fill a tank with
water fetched form a well. Manoj fetches
S5 litres of water in 4 minutes whereas
Swathi fetches 4 litres of water in S5
minutes. find the time taken by them
together to fetch 205 litres of water?

#dleT IR 3FH gl F@IfA TR FC FOAEd
e R F R T eI AT 4 RAec H 5
X gt Awrerar § sefd w@rfa 5 @Aee 7 4
dhex arelt AwTerdt §1 v a1y RAesy 205 few
Ul fAeTes A 39 g@rT o = AT A

HIfAT?
(a) 2 hrs

(b) 1 h 30 min
(c) 80 min

\J;H 100 min

CHSL 2021



Eighteen men can complete a work in 14
days. Three women do as much work as
two men. Five men and six women started
the work and continued for 4 days.
Subsequently 3 more men joined the
group. In how many total days was the
work completed?

IONE 9 T F1 N 14 Ral & QU T ¥&d
g1 e Ao, @ oot & Sraer 1 e
g g3¥ AR o7 Afpaat a w9 4w G 3k
4 R a% SR @1l F9F dq1E 3 IR RV FHE
# wfAe g vl FF Fa Faa Rt & @A
Eo) RISSC CGL 24/08/2021(Shift 02)

(3)21% (c) 18

( 2
(b) 14% ‘)4



Eighteen men can complete a work in 14
days. Three women do as h work as
two men. Five men and six !g':ﬁen started
the work and continued for 4 days.
Subsequently 3 more men joined the
group. In how many total days was the
work completed?

HORE Io9 T HF H 14 &l 7 U FT qFd
gl dffer Afgene, at gl & Sraen F1F Fdr
g 9o AR o7 Afeenal  F 4F fFar 3k
4 Tt d% SR @1l 39F a1 3 IR T THE
# arffer g v FF Fa o Rt & @ @
S EISSC CGL 24/08/2021(Shift 02)

(a) 21% (c) 18

(b) 14% &Q2



A alone can do a work in 14 days. B

alone can do the same work in 28 days. C
‘ \1 ‘1 alone can do the same work in 56 days.
2 S' 6 2 They start the work together and
9 l 2 completed the work such that B was not
s 6 , working on last 2 days and A did not
L’ -q_ work in last 3 days. In how many days
72 R P (total) was the work completed?
— A IFA TF FF A 14 ReT & g F GFar
'}L ¢l B 3 3H F& FI 28 T A T
? WHdl g1 C FFel 36 F1F F 56 G & qu
HY THhaTl ¢l T Th AT Aaay S FL=0

URH FId § dUT 59 IR S QU Fd 8 &
(a) 79/7 days B 3fas 2 &t 17 w1t Far ¢ 991 A ifax

WATT2/T days 3 oo ot ot awcer §1 WRT B Reere Rt
(c) 82/7 days

(d) 82/7 days # T §3?



o0%o
6 men earn as much as 7 w}omen, 2

women earn as much as 3 b&;s, 4 boys
earn as much as 5 girls. If 5 girls earn

e,
Rs.400 a week, much does a man
n—
earn in a week?

6 q¥¥ 7 Afgen3it F S FA ¢, 2 Afger?
3 9SHI & SET FA §, 4 d5H 5 asfeal
¥ TET AT ¢l afe 5 TfHar v aeaE A
400 T9¥ FATA ¢, A TFH THY TH §Fd A

fFaeT FHET 82
(a) Rs.195 Ms 175
(d) Rs.180

(c) Rs.200
SSC PHASE X




In 1 day, 25 bottles are packed by Arjun,
while 22 bottles are packed by Karan in
the same time. They are working on

alternate days such that Arjun works on
the 1st day, Karan on 2nd, Arjun on 3rd
and so on. How many bottles will be
packed in 9 days?

1 e &, 25 diael 3ol @Rt 4% A S g,
Safd 22 didel AW TAT A A ¢RI IF
N IR RA T s IR E
S8 & e wEe e 19 Far 8, T gt
feet, 3ot ey R 3t gt avg amn 9 R=

#A gt ager 4% #r FwAr?
(a) 195 (b) 210
(c) 188 (d) 213

SSC PHASE



